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Part A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- He is a man of ~—---—--- who has never abandoned his principles for the sake of making money.
1) utility 2) integrity 3) treaty 4) acrimony .
2- The loud sound of the radiator as it released steam became an increasingly annoying
1) interval 2) perception 3) zenith 4) distraction
3- Jackson’s poor typing skills were a ---------- to finding employment at the nearby office complex.
1) hindrance 2) supplement 3) confirmation 4) versatility
4- The judge dismissed the extraneous evidence because it was not ---------- to the trial.
1) obedient 2) treacherous 3) pertinent 4Y vulnerable
5- Because biology is such a -—-------- subject, it is subdivided into separate branches for
convenience of study.
1) deficient 2) consistent 3) broad 4) mutual
6- In addition, physicians may have difficulty in deciding that an illness can be ---------- the
job. Many industrial diseases mimic sickness from other causes.
1) attributed to 2) precluded from 3) refrained from 4) exposed to
7- Mechanics was one of the most highly developed sciences ---------- in the Middle Ages.
1) extracted 2) persisted 3) resolved 4) pursued
8- In the absence of death from other causes, all members of a population may exist in
their environment until the ---------- of senescence, which will cause a decline in the
ability of individuals to survive.
1) ratio 2) onset 3) core 4) output
9- Before the invention and diffusion of writing, translation was ---------- and oral; persons
professionally specializing in such work were called interpreters.
1) subsequent 2) unilateral 3) eventual 4) instantaneous
10-Public attitudes toward business regulation are somewhat ---------- ; most people resent

intrusive government rules, yet they expect government to prevent businesses from
defrauding or endangering them.
1) cogent 2) emotional 3) ambiguous 4) indifferent

Part B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

The variety of successful dietary strategies (11) ---------- by traditionally living populations
provides an important perspective on the ongoing debate about how high-protein. low-
carbohydrate regimens such as the Atkins diet compare with (12) -=-------- underscore complex
carbohydrates and fat restriction. The fact that both these schemes produce weight loss is not
surprising, (13) -=-------- both help people shed pounds through the same basic mechanism: (14)
---------- major sources of calories. When you create an energy deficit —that is, when you
consume fewer calories (15) ---------- —your body begins burning its fat stores and you lose
weight.

11- 1) employed 2) are employed 3) is employed 4) then employed

12- 1) those that 2) the ones they 3) that which 4) they

13- 1) in fact 2) although 3) likewise 4) because

14- 1) limit 2) limiting 3) which limit 4) with limiting

15- 1) are expended 2) that they are expended

3) than you expend 4} to expend
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PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing
the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Passage 1:

If you type into Google's search engine the question "How does Google work?, "Google itself
offers a curious explanation: PigeonRank. According to this obvious joke, Google uses clusters
of trained pigeons to “compute the relative value of web pages faster than human editors or
machine-based algorithms.” Pigeons, they tell us, can spot minute differences between web
pages and will peck when a relevant result appears on the screen. Pages with more pecks move
to the top of the list. Google assures us that the pigeons are well treated and not overworked.

Two things are clear. Google wants the workings of its successful page-ranking search engine
to remain secret, and Google does not mind if you believe pigeons are involved. Fooling aside,
what actually accounts for Google's success? How does the search engine, in 0.04 seconds, find
46,000,000 pages relating to "Batman" and put the ones you are most likely to be interested in
near the top of the list? How does Google make any money doing this?

The Google story begins in 1996 at Stanford University in California. Two graduate students,
Larry Page and Sergey Brin, wanted to find a better way to search websites. Current search
engines ranked search results according to how frequently the search words appeared on a page.
This approach had several disadvantages. Users had to sort through too many listings to find
relevant information. Plus, people could trick search engines to get their page listed at the top of
a search query. A user who types in "Batman" does not want to see an online news site at the
top of the rankings. Larry Page and Sergey Brin hypothesized that a page is more valuable if
other sites link to it. If someone links to a page, then the page has at least some importance. If a
very important website links to the page, that indicates even greater importance. So Brin and
Page designed a search engine that could "crawl" the web, download every web page, and
analyze its relevance using a secret, constantly changing formula. Pages with higher scores get
listed toward the top.

What can be the best title for this passage?

1) Google Controversies

2) What Actually Accounts for Google’s Success?

3) Google: A Brief History

4) Google’s Brilliant Team

According to the passage, Google’s search engine --------- .

1) gives priority to web pages with more pecks

2) has recently revealed that the secret of its success is PigeonRank

3) arranges search results on the basis of the frequency of the search words
4) uses trained human editor to evaluate its web pages

The word “query” in line 18 is closest in meaning to --------- .

1) survey 2) area 3) result 4) question
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It is stated in the passage that Larry Page and Sergey Bin -------- .

1) designed a search engine that could use a fixed formula to compute the value of web pages
2) designed their search by sorting through listings to find relevant information

3) speculated that the more people or sites link to a web page the more important the page is
4) were satisfied with how search engines operated in the1990’s

The word “ones” in line 11 refers to ---------- .
1) pigeons 2) pages 3) seconds 4) successes
Passage 2:

Telecommunications took a giant step forward in 1876 when a Scottish immigrant.
Alexander Graham Bell, patented the first telephone in Boston. Unlike a telegraph, anyone
could use a phone and communicate by voice rather than mechanical clicks. The telephone had
great advantages for many people. First of all, businesspeople could communicate directly with
their clients. There was no need to go through an operator. Second, newspaper reporters were
able to phone in their stories quickly, so news traveled faster. In addition. families throughout
the country could stay in touch. It's no wonder that telephone lines soon replaced telegraph
lines, and telephone calls took the place of telegraph messages.

In 1957 the Russians sent the first man-made satellite, Sputnik, into space, and the world of
telecommunications changed again. Soon after, space satellites could transmit, or send,
telephone signals to just about anywhere in the world. This marked the beginning of global
telecommunications. Talking to people across the globe became as easy as telephoning someone
across the street.

In 1969, using satellite communications and telephone lines. U.S. government scientists in
the Advanced Research Project Agency (ARPA) started a telecommunications revolution. By
linking, or connecting, computers, the scientists created the ARPANET. This system allowed
researchers at one university to access, or see and use, information from computers at other
universities. They also used the system to share research results and ideas. ARPANET was the
start of the Internet. Using ARPANET, scientists also found a way to send written messages
from one computer to another, thus inventing (e-mail) in 1971. When the general public started
using the Internet, e-mail became an important means of communication. Not only was e-mail
faster than traditional mail, but it also made it possible to communicate with hundreds of people
at the same time.

What is the passage mainly about?

1) Advantages of the telephone over the telegraph

2) A history of advances in telecommunications

3) How the general public, businesses, and universities benefit from telecommunications
4) Recent revolutions in the world of telecommunications

Which of the following is NOT mentioned as an advantage of the telephone?
1) Its usefulness in developing news stories

2) Its use in quick reporting of news items

3) Its usefulness in helping families keep in touch

4) Its ease of use for businesspeople

The word ‘this’ in line 11 refers to --------- .

1) sending telephone signals

2) sending Sputnik into space

3) transmitting telephone signals through space satellites

4) talking to people around the world
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According to the passage, the ARPANET ------—- .

1) had no more need of satellite communications and telephone lines

2) had been used for sending oral messages for long before it was used to send written messages
3) marked the beginning of information sharing at universities

4) preceded the Internet and electronic mail

The paragraph following this passage most probably deals with ~--------- .

1) advantages of e-mail over traditional mail

2) more recent developments in telecommunications

3) more important means of communication

4) what the future holds for telecommunications

Passage 3:

The ingestible sensor networked wellness system is composed of an edible sensor system along
with a wearable health monitor. The size of the sensor scheme within this system resembles a
grain of sand measuring 1lmm square. Only two drug-sensor form factors were developed and
examined in clinical trials. One is an edible sensor that is right on top of the tablet using a
pharmaceutical edible adhesive material; and the other one is formed as a tablet, capsule, or
powder that can be carried in the body with a special sensor-enabled capsule carrier with a
capsule body.

The sensor system includes a silicon integrated circuit (IC) in the center of a friable disc
that helps to crumble in the digestive system. The IC is covered with copper salt on one side and
magnesium on the other for the material that make the edible sensor to be as light as Smg. The
reason for this selection is because copper and magnesium are both minerals that are present in
human diet and are extremely light. Interestingly, this device does not need a power supply or a
battery for its activation. The voltage produced by electrochemical redox of copper and
magnesium in the human body activates the IC; then the IC regulates the current and modules a
specific rate that causes a time-varying electric potential throughout the body.

There is unique identifying information that is like serial number encoded on the IC
where the wearable health monitor - a miniaturized skin-patch device - can detect, interpret, and
record the data approximately in 7 minutes. This data is not detectable by anyone else besides
the patient; meaning, the process is within the body and completely secure. This device can
communicate with the edible sensor in the body and report certain physiological parameters.

The wearable health monitor is placed in the patient's body utilizing biocompatible
electrocardiogram (ECG)-style Ag-AgCl electrodes. Moreover, the monitor can assess the
impedance across the electrode by applying a low-amplitude, alternating current and measuring
the resulting voltage. Also, the circuitry can produce low frequency bio-potentials that are
sampled to produce an ECG signal for heart rate assessment. This wellness system can also use
a set of peripheral wireless devices for metrics such as blood pressure and body weight.

What is the best title for this passage?

1) Form factors of edible ICs inside the pills as a health device

2) Ingestible sensor pills system for the next human generation

3) Drug-sensor networked wellness system for humans and animals

4) Edible networked wellness system device for drug therapy

What is the size of the sensor system?

1) Similar to the size of a grain of a sand 2) Similar to the size of a small grain
3) The same size as a tablet 4) The same size as a fabric disc
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Which of the following statements is NOT true about the sensor for factors?

1) It could be in the form of a capsule that can be carried in the body with a special carrier.
2) It could be on top of a tablet using a medicinal edible adhesive material.

3) It is produced in one form which is developed and examined in clinical trials.

4) 1t is developed in a couple of form factors, one stuck to the tablet. the other as a capsule.
Which of the following statements is true according to the passage?

1) Integrated circuit within the sensor is edible.

2) Sensor networked wellness system only use wireless devices.

3) Monitor’s circuitry produces high frequency bio-potentials.

4) The sensor is activated using a special battery.

The wearable health monitor in this system ---------- .

1) can detect, interpret, and record the data in 7 ms

2) is not designed to communicate with the sensor

3) is not utilizing electrocardiogram style electrodes

4) is made of a miniaturized skin-patch device
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